= AH O
N = 0 &8 AF S & Al A
20129 & 20jla LESIH ALSTHY ~ ALY
A AT
ZE: OFGID BHE GHEIL(FELXANL/ATR)
ctel: St I (¢t &
_ _ HE T
2N -3 - c2(3H) - NEME - HES 0] AFCH ioﬂ/l\_Fo” HunsZ
214 2 T ot 16,939,925 21,821,518 4,881,593
2 4,793,000
& 720,000
Al 2,634,576
iy 8,792,349
OtMol ) FESH SIAXTH(2ELX N /E=TH) 7,713,047 9,777,972 N2,064,925
=2 4,236,000
o 3,477,047
ot& EH| 7,713,047 9,777,972 N2,064,925
2 4,236,000
o 3,477,047
of& 22| 627,936 318,670 309, 266
201 B2 H| 9,000 9,000 0
01 At 22|l 6,000 6,000 0
(@) RIE=au]l 4,000
Oocta L Sgad=2E EXT 4X
300, 000& 1090 A~ 3,000
Odotaze 222 HE L JIIZS2E015
500,000& *x23| 1,000
o1l =4l 2,000
Ootd2tel 3H(ot- s8)
200,000 x5H x23| 2,000
02 3=2gH| 3,000 3,000 0
o3322 2 HA 3,000
OJtse FMIIRI(2IHA) 200,000& x12& 2,400
OKZHHO QHULRZ(1HA)
50,000& *12& 600
202 (4 Hi 14,000 14,000 0
01 2| 2,000 2,000 0
o220l 2,000,000& 2,000
02 EHAHI 12,000 12,000 0
Oota &l HA 200,000& x5H =12 12,000
203 2R F=&Y| 4,500 4,500 0
03 Al HF=XIH 2 F=ZAH| 4,500 4,500 0
O Xl &otA &b 4,500,000& 4,500
204 &P ZFH| 20,400 0 20,400
03 SEYREH| 20,400 0 20,400
otalesy| 50,000 x29H « 12& 17,400
otHorE=sd|(#4A) 50,000& x5H = 12& 3,000
207 I L Y| 7,660 0 7,660
02 & AJHEH] 7,660 0 7,660
OHEATZTE O P (SGS, Autocad)
7,660,000 7,660
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SN ALY
M OrHGD) HEE GIEIL(FELXAWL/EXE)

S k-] (28 @
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 %Egﬁ Blusz
307 81240 30,000 0 30,000
05 Q12913 30,000 0 30,000
OMENGHE X2l S (B3, 510r)
30.,000,0002! 30,000
401 Al HIL 2 CH bl 542,376 291,170 251,206
01 Al&H] 540,000 290,000 250,000
023 st Iyl 150,000,000&! 150,000
octE el DIEEX EAS 50,000,008 50,000
OStd 2EEZ Y SII442  10,000,0008 10,000
CLEEL:] 330,000
OS24 =4l ATE Z&TA 150,000,000 150,000
O30t T45tE BRS EXBA
50,000, 0002 150,000
O SE H YIS AHL=100m)
30,000, 0002 30,000
03 Al& =2 THb| 2,376 1,170 1,206
OBt &I Z A 330,000, 000! %0.72% 2,376
SEE NLSE FHIA (=) 3,317,596 2,500,000 817,596
2 1,986,000
= 1,331,596
401 A& HI 2 2 ChH| 3,317,596 2,500,000 817,506
2 1,986,000
2 1,331,596
01 Al&H| 3,310,000 2,500,000 810,000
OL&E NL6HE FHIA (L=3,638M) 810,000
O At 810,000,0008! 810,000
2 486,000
2 324,000
OYHH MENGIE ZHAY 2,500,000
o= 1,200,000, 0002 1,200,000
2 720,000
2 480,000
OZ At 1,300,000,000&! 1,300,000
2 780,000
2 520,000
03 Al& 2 TH bl 7,596 0 7,59
OLEE XYSHE FHIAY
2,110,000, 000! 0. 36% 7,596
ClstE GHEEY HEA (HEHI) 1,174,212 2,500,000 ~1,325,788
2 700,000
2 474,212
401 Al B2 2 oH bl 1,174,212 2,500,000 ~1,325,788
2 700,000
2 474,212




SN ALY
M OrHGD) HEE GIEIL(FELXAWL/EXE)

ol ot Il (el &)
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES 01l A+oH loﬂ/i\_Fo” Hws2
01 Al& | 1,170,000 2,500,000 ~1,330,000
O3 & 5H& 2l & AL (L=9,250m) 1,170,000
OZ At 1,170,000,0002 1,170,000
= 700,000
2 470,000
03 Al =2 THH| 4,212 0 4,212
OsIA BIESAE MEA
1,170,000,0002 *0. 36% 4,212
Held otESAZLAY 2,593,303 386,000 2,207,303
= 1,550,000
2 1,043,303
401 Al & HI 2L 2] 2,593,303 386,000 2,207,303
= 1,550,000
2 1,043,303
01 Al& | 2,584,000 386,000 2,198,000
ONel® stESAXAA (L=1,138m) 2,584,000
OZ At 2,584,000,000&! 2,584,000
= 1,550,000
2 1,034,000
03 Al 20| 9,303 0 9,303
ONH2ld stEEd TAAY
2,584,000,0002 *0. 36% 9,303
oD HRE AU (BHES/MGIEE - 2H) 2,505,401 2,254,167 251,234
2 420,000
Al 2,078,401
2 7,000
2012 2AE 22 2,372,783 1,911,797 460,986
2 420,000
Al 1,945,783
2 7,000
20IZHAE SRR 1,772,783 1,111,797 660,986
Al 1,765,783
2 7,000
201 Yt gyl 116,610 110,097 6.513
Al 116,610
01 AtRZelH| 4,250 4,250 0
CITEIEN=1%] 4,250
O+ESEXLDIA(2ZA) R
2502 *13,00004 3,250
Al 3,250
OE M7 1,000,0002! * 14! 1,000
Al 1,000
02 2Z29H| 112,360 105,847 6.513
OZ2R2 ¢ HAl 110,360




S AT
Hy: 9tD RS ARV (BABS/MBAEE - +F)

&2l 2H0la==Ald 22 EEEEE]
SA - M. CHY (B NEAS - HH 2 Al OH HdE T H D=2t
M- 3 - SHA(SAH) - MEMY - HAES Ol & O] AF OH (S

— T

310,000 <2764 2 85,560
Al 85,560
OLBAANLLB(2AE) 6,200,000 141 6,200
Al 6,200
OA0IBHAE FHII2Y 23
50,0002 #3174 4 122 18,600
Al 18,600
CNPEETIESE 2,000
O%4E AWS A&l
1,000, 00024 %24 2 2,000
Al 2,000
202 04t 2,000 2,000 0
01 2UH0i 8] 2,000 2,000 0
CETIVE] 2,000,00024 2,000
203 YR =Y 5,000 5,000 0
03 AR =X 2= ZH| 5,000 5,000 0
OAN0IZHAE ST 5,000,000 5,000
307 21201 & 430,560 362,700 67,860
Al 430,560
05 BI2t9IEr2 430,560 362,700 67,860
O0IZHAE R A
130,000 x2760H 2+ 122 430,560
Al 430,560
401 A2 HIL 2T HI 1,218,613 631,200 587,413
Al 1,218,613
01 Al&t] 1,213, 109 631,200 581,909
OA0IZHAE S E4H 400,000,000% 400,000
Al 400,000
OAOIZHAE 2T YXAL &X 326,602
OFAAAE SXBA 50,000,000 17 4 50,000
Al 50,000
OA0IZHAEL H4I| RI2L
250, 0009 +310 4 * 122 93,000
Al 93,000
OYASUI| RXB2 100,000 2767 £ 27,600
Al 27,600
OREAATEI| XA
4,000, 00024 *5H 2 20,000
Al 20,000
OL0IZ+AE SELAXTRI| BT 22
200,0002!* 1007H 2 20,000
Al 20,000
OL® HEAY LHEY YHEX
7,000, 00024 *5H 2 35,000
Al 35,000




A AL LTI

HE: ofD JHRE AR (BEES/MGISE - +F)

el A0IZHAIE 22l (69l &2
S EHB .S (BH) - HRAIY - B2 Of) A o4 ﬁggf; HDZS2
OA0ISHAIEU HALT 2 A
2,000,0002! *157H £ 30,000
Al 30,000
OA0IBHAIE ®II&H 2X2%
108, 7002 <2764 4 30,002
Al 30,002
OAN0IBHAE &3 &S A
3,500, 00021 674 4 21,000
Al 21,000
OA0IBHAE HES AL 440,000
O CHHOIE 2H0ISHALES(2YT
M) 80,000,000 80,000
Al 80,000
OS2 W (HEB) A0IZ+AE24(2Y
3 oH) 0,000,0002! 20,000
Al 20,000
O N =IH(ErE0HS) 20IZ AL 24 (2
M, 293, &, SHa22) 120,000,0002 120,000
Al 120,000
O N Y (BE0S) 20IZHAE2H(2
&3 mA) 30,000,000 30,000
Al 30,000
OFS HH(ZHOS) 20IZHAL24(2
M, 293, 8|, SH422) 90,000,000 90,000
Al 90,000
O4= S8 (&HOIS) 20IZaAE g
NCER-ELEED 30,000,000 30,000
Al 30,000
OM=S YEDIS A0SLALES(BE, ®D)
) 70,000,000% 70,000
Al 70,000
OA0IBHAIE HSEAS AAIE A
1,146,600,0002 3. 12%+1.3 46,507
Al 46,507
03 Al & 0HHl 5,504 0 5,504
OA0BHAE HES AL
1,146,600, 0002 0. 48% 5,504
Al 5,504
ATR STAIE HEALY 600,000 800,000 200,000
= 420,000
Al 180,000
401 Al L 2T 600,000 800,000 200,000
= 420,000
Al 180,000
01 Al &t 596,693 795,212 ~198,519
OARD +TAE JeAre 596,693
O& Al &bl 570,370,0008! +3.55%+1.3 26,323
= 18,426
Al 7,897




S ALY
M oD JRE ALV (BALS/MGILE - $7)

CHol 2H0|24AIE B EER-E
_ _ _ N E
S EHB .S (BH) - HRAIY - B2 Of) A o4 o HDZS2
OZ At 570,370,000 570,370
2 399,259
Al 171,111
03 Al 20| 3,307 4,788 A 1,481
OARE 2TAIE WAL
570,370, 0002 %0.57979%% 3,307
2 2,315
Al 992
MaESTA B 132,618 193,412 AB0,794
Al 132,618
NaB5RA 21 - e 132,618 193,412 AB0,794
Al 132,618
201 LEr2 Y| 73,418 67,739 5,679
Al 73,418
01 At 22| 18,240 13,000 5,240
CEIRS =4 6,000
OARE 7 U #20 HX
1,500,0002 x4} A 6,000
Al 6,000
OEHILXZ 3,000
OMIAI L SYAILS HIIFH 2
1,500,0002! *23] 3,000
Al 3,000
o=z 9,240
OFY 2 of2ers A 9,240,0002 9,240
Al 9,240
02 2222l 55,178 54,739 439
02222 L MA 5,900
OFI|,H3R2 S 250,000 *128) 3,000
Al 3,000
OREE(=E0I1E) 300, 0002 5L 1,500
Al 1,500
OS2 (2212 700,000 *2CH 1,400
Al 1,400
o 2| 8,112
OxAZH| 1,3522 %25 f +1202 %20 £ 8,112
Al 8,112
OxtE - Mty 41,166
SEET] 25,566
L EEXZY 1,8012%10 4 x5 <200 122 10,806
Al 10,806
. EEOIEX 1,968 x5 § x5 x50} * 122 14,760
Al 14,760
CESSEIEI 15,600
., EERE 400, 0002 20} * 128 9,600
Al 9,600




SN HEY T
HE: ot WRE LA (BIES/MTEET - 2F)
ool AaRBSTY B (25l &2
_ _ pSNE e
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; Hws2
IEETER 100,0002 #5CH 122 6,000
Al 6,000
202 01t 7,200 7,200 0
Al 7,200
01 2LH0I b 7,200 7,200 0
CENE] 7,200
OS5 NE Sz
20,0002 *2% * 152 + 122 7,200
Al 7,200
401 Al & HI L2 THY| 52,000 9,600 £42,600
Al 52,000
01 Al&H] 52,000 9,600 £42,600
O4+eFSTY EXB &1
1,000, 0002 * 1074 2 10,000
Al 10,000
OM4RBSTA AL B
30,000, 0008 * 144 30,000
Al 30,000
O4+VFSTY YABA BHI| T
12,000, 0002 *14! 2,000
Al 12,000
WRE 2T (HFLE/MBEE - 2T) 2,736,230 5,586,876 ~2,850,646
= 300,000
Al 5,400
= 2,430,830
ST &% U H 1,734,485 1,397,548 336,937
St+E Ax L F| 1,734,485 1,397,548 336,937
101 Q1248 70,581 67,090 3,491
M4 IIZH2RTS2 4 70,581 67,090 3,491
ost+2 2 70,581
0123 44,4109 #43 #2102 37,306
Og2+g 44,4109 %42 %952 6,876
SEET] 5,000 %42 x2102 4,200
OnEt| 5,000 *4%x2102 4,200
O}Ns4g 4,800
. 2R 40,0009 *4% * 102 1,600
BETIE 20,0002 *16% * 102 3,200
O = FIH| 400, 00021 *424 #23] 3,200
201 YEre gt 97,840 80,960 16,880
01 At 22l t] 1,000 1,000 0
CEIRE=Y] 1,000
Ostazl 222 HE 2 JI=L2Z05
1,000,002 1,000
02 T2 9,840 79,960 16,880




S ALY
HE: hRe 2RV (HLBS/YGHEE - 2 F)
A

& ot== X ¥ FH| (et =3

_ HAc =
ZM . ERA(ZA) - NFAY - BES Aol Ol Ak O it
0zZz22 2 MA 96,840
OHIIR 95,400
. @4BO 15,0008 *907H 4 * 128 16,200
. LIAFOIZEX BB3H+Z2 504
6,600,000% * 122 79,200
0%+5Q2 1,440
. LIAFOIZEX BB3H+Z2 1A
120,000 * 12 1,440
202 01 | 2,400 2,400 0
01 2UH 01| 2,400 2,400 0
©2 2l 01| 2,400,0002 2,400
QXY 4,000 4,000 0
ABZET @ EAIY| 4,000 4,000 0
0BZot+E L 4,000,00084 4,000
206 M2 | 35,000 35,000 0
01 X 2 35,000 35,000 0
OBt+TAIMES B4RH 72 5,000,008 5,000
OBt+E 222+ €2 2 30,000,008 30,000
2I2t0| & 300,000 200,000 100,000
SR 300,000 200,000 100,000
OZZot+E RIS (LIAOIZEXI 2 54
A) 300,000,000 300,000
401 Al S HIL 2O H| 224,664 1,008,098 216,566
01 Al & 218,616 1,003,436 215,180
05t+E 222+ 120,000,000% 120,000
OBt4E AZEH 120,000,000% 120,000
OBt FHIAG A& A
520,000, 000! *3.58% 18,616
OBt4+E FHIAY 520,000
OS24 G4l 24 HED HAZAHLARY 1
Al) 150,000, 0002 150,000
Oy S22 Q422 o 42 JUIBA
(L=290m) 60,000, 00084 60,000
OB AIED DHSOHZ b 424 X B AHL=30
Om) 100,000,000% 100,000
OAM LIALOIZ=SHR Q4F2l& 2e7 Ha
Abed 100,000,000% 100,000
OM# 2217 5t & X2 AH(L=120m)
50,000, 0008} 50,000
Oae 4 B2 & X2 AH(L=300n)
60,000, 00084 60,000
OZZot+HMeIY HAASHAA MOIAIAE 3
= Abel 340,000,000 340,000




A AL LTI

HHM: HRE 22| (BHES/M6tE - +F)
A

ool Blas M ¥ F| (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
o2 == =2 2 LHEH
100,000,000& 100,000
03 AIE20id| 6,048 4,662 1,386
Oot+=% HHIAMY S 960,000, 000& *0.63% 6,048
TBoEE AL 300,000 3,274,748 A2,974,748
= 300,000
AA S0ls 220t AIE (HISH) 200,000 0 200,000
= 200,000
401 AIEHI L 20HH| 200,000 0 200,000
= 200,000
01 Al &HI 200,000 0 200,000
OAM HE0tE Z20t2=5 A& (L=4.9m)
200,000,000& 200,000
= 200,000
AR ASOIS Z220tETAIE (H ) 100,000 0 100,000
= 100,000
401 A& HI L 204 100,000 0 100,000
= 100,000
01 Al&HI 100,000 0 100,000
o4s 252 BTE4E AL (L=7.8m)
100,000,000& 100,000
= 100,000
= XNel & 22 701,745 914,580 N212,835
Al 5,400
iy 696,345
LeHelAE § 2 40,670 41,670 1,000
201 L et2Hb| 10,670 10,670 0
01 AR 22/l 2,170 2,170 0
OgEt=2H| 2,170
OL=XHelANds NE&EZ MAIM
500,000& 500
OANZMFY 2 2,500& 600K 1,500
OAFsX HASEXA M 170
c AAEXNAM 70,000 18 A 70
. UEUEE AEHA 200-& *5000H 100
02 S324H| 8,500 8,500 0
os32= % HA 8,500
OL=XelANds HASK RERS 8,500
. 51 1,750& *3,0000H 5,250
. 2tk 250& =7 ,0000H 1,750
. SJ|EtS 1,500& *1,0000H 1,500
403 AtXISHM S K201 A 30,000 30,000 0
02 2| 2SOICHSHCHEE AFR HI 30,000 30,000 0




S AT
3 PR SRR (BYES/MGAE - 2F)

ool o4 Mol @ mel (25l &2
- - o HEE =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
OOEHE 2= U QU]
1,0002%30,000K¢ 30,000
TEsFA 2K - el 568,419 528,771 39,648
Al 5,400
2 563,019
201 QEr2gy| 70,900 60,400 10,500
Al 5,400
= 65,500
01 At 22|t 20,400 20,400 0
CEIES=YI] 20,000
OMLEEA HISE 7
600, 0002 * 182 £ 0,800
Al 5,400
2 5,400
OZZaEA ¥ HSHEI & MZII 3
o 100,0002 *107H 1,000
OZZaEA FUEXE HE
40,0002 x2Z5 *407H 3,200
OZTZaEA YA =S H0l2 2L
50,0002 404 2,000
OOISAl 31& Al OIFH|  1,500,0008 x2S 3,000
oYtz 400
OLALGHE BEsEA 22X K22
400,000% 400
02 ZB2Y| 50,500 40,000 10,500
03222 2 HA 50,500
OZZ3zA 2223 50,000, 0002 50,000
Ost =5tz 83yl 500, 0002 500
202 04t 1,000 1,000 0
01 2L 0l ] 1,000 1,000 0
CETIT 1,000,002 1,000
307 212H0| & 496,519 467,371 29,148
05 QIR I3 496,519 467,371 29, 148
OTZHTA AT (3PY)
457,119,0002 457,119
OBZHEA 2aHANL B2BY
200,0002 107 4 128 24,000
OfE 0ISASHTA LM BY
350, 0002 x220} 4 x2 % 15,400
DESIA N B4 L AEAT 92,656 344, 139 A251,483
201 YEr2gY| 11,360 11,360 0
01 At 22| H] 1,360 1,360 0
oYR2 1,360
Oglzra 210/5H & A 380,000 x2S 8,360
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SAf 2

Mo PRE +EB(HFLS/MOHAE - A H)
o9l 24 Hel 2 2l (25l &2
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SEEENEEE 1,500, 00021 25 3,000
401 A& HIL20H bl 81,296 332,779 ~251,483
01 Al&H] 80,000 330,400 £250,400
OB N4 80,000,002 80,000
03 Al& 2 ChH] 1,296 2,379 A1,083
OB N4 180,000,000 %0.72% 1,296
THOH S TH Ol 2 (BB R A QLOHE /THEH T - 2129 596,438 480,819 115,619
= 18,000
Al 18,000
= 560,433
THoh % THtols 22l 497,723 429,459 68,264
O X B A REH 17,670 17,670 0
201 YBr2 | 17,670 17,670 0
01 AtR2t2IH] 16,670 16,670 0
oger4gt| 9,800
Oor&Be|H e =X K= 98,0008 *100% 9,800
osg+g 6,870
OAFBRANLE FH4L
70,0002 %132 18] 910
OAMBRIXNLE AHEALY (D)
100,000 * 138 23] 2,600
OUFE HEEY HHZIMHIAAEY &I}
g 70,0002 425 123 3,360
02 BB 1,000 1,000 0
0ZZ22 2 MM 1,000
OgMelsl st 1,000,0002 1,000
WISESS N 34,475 44,475 A10,000
201 Yeregt| 34,475 44,475 £10,000
01 At 22|t 8,430 8,430 0
CHEIES=Y] 4,430
OSZHSS(1002) 7L
2,40021 200K 122 576
OSAFSXI(M) 7Y 16,5002 +58 Ax 122 990
OZotZRIE EHRY 358,000 «45+23] 2,864
o2zl 4,000
OMUSe &g 228 4|
4,000,0002! 4,000
02 BB 26,045 36,045 £10,000
CNEETES 26,045
OZHOIX RX24 3,000,0002 3,000
OMLrag BHAAE 22
384,072,077 6% 23,045
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A AL LTI

HE: HHL O (BREMNUOE /T - 2129l
Sl THOH 2 THLroI 2rel (e
_ o e =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
WL ZLA AL 2o 132,006 132,006 0
201 Yeregt| 132,006 132,006 0
02 222l 132,006 132,006 0
03222 2 HA 42,000
ONMLHZBAIAY M), SR
3,500, 0002 * 122 42,000
CNEETTES 90,006
OTHHMB R AL el 500,0002 * 128 6,000
ORANSL4Y BIAAY el
63,355, 00021 7%+(7/ 122 )+1,190, 0002 3,777
OMHS T ZEAIAY e
311,500, 00024 +7% 21,805
OTHHSRIFHBEAI AL DI &K
15, OO0,000%*Z)H& 30,000
ONESTBBAILE 22
52,524,0002 *5.8%+0. 51 21,824
ONESYBRAAEY ST DA
6,600, 0002 6,600
B B2 2l 270,672 191,008 79,664
201 YEr2gt| 66,200 191,008 ~124,808
01 At 22|t 14,400 0 14,400
OB FIIQGHBNB A2 (2H4)
1,200,0008! * 122 14,400
02 232l 51,800 191,008 ~139,208
03222 2 HA 41,400
Obi+2 #1223 50,0002 128 %700 £ 4,200
OBi4% ®II23(244) 3,100,008 122 37,200
CNEETES 10,400
Obi%2 300, 0002 *247H £ 7,200
OB %% 1,600, 00021 274 2 3,200
207 AT 39,000 0 39,000
01 A RE | 39,000 0 39,000
Obi4+2 FUIHTC 8 39,000, 0002 39,000
401 Al EHIL 2 OB 165,472 0 165,472
01 Al&t] 164,320 0 164,320
O2Y S4 EN W42 FSHX LXZA 84,320
O A& 2| 80,000, 00021 +5. 40% 4,320
OZ Al 80,000, 0002 80,000
ObI+2 24T AH23MHL) 80,000, 0002 80,000
03 Al& R THEI 1,152 0 1,152
Obi4+2 HSIX &X L 22
160,000, 0002 %0, 72% 1,152
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A AL LTI

H: THHLTHH O (SSE AL /THH TN - 212 e])
Sl THOH & Ao 2tel (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
METHZEd & 2,000 2,000 0
201 et 2,000 2,000 0
01 At 22IH 2,000 2,000 0
o2g=+¢ 2,000
OMETHHE S LB ERRS HE =Y
50,0002 x5 83 2,000
NEAXsLdMHt 23 40,900 42,300 21,400
307 2120l & 40,900 40,900 0
02 QIZHHAE R 40,000 40,000 0
OXNSXESYHE X 40,000,0002! 40,000
06 283 900 900 0
OXNGXNSLME doiE2E It
3,000 *300% 900
OLE AN DI B R A 98,715 51,360 47,355
= 18,000
Al 18,000
= 62,715
NP RSFE 17,300 17,300 0
201 L2 | 8,000 8,000 0
01 AR 2teld| 1,000 8,000 A7,000
oIl =] 1,000
OANES AXHA 100,000 10 1,000
03 AL H 7,000 0 7,000
OTHEHOI 22t SHAL 7,000
OF3-— 1,100,000& x43 4,400
O+ 100,000 %204 2,000
O3, o1 JH Il 100,0002 +63] 600
206 M=l 6,000 6,000 0
01 W2l 6,000 6,000 0
OUESXIMBIAAIY T F &
100,000 *57t 2% 123] 6,000
301 etz azg 3,300 3,300 0
10 HAIAH 2 A2 3,300 3,300 0
OQotNMEBHIGHAI 2O A A2 4
10,0008 x20 % 23] 400
OMtoM LI WA A28
10,000 #1209 23| 2,400
oYY FOUA 24 10,0003 »50H 500
THEHE QLR ObA & 2 U H H 20,000 17,850 2,150
= 10,000
Al 10,000
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SN

2t 2T ot

BB HHUT L O (BBENLOIE /T T - 2129
SRl OFM AN DIt X S P2
SN C(BH) - NRAY - HES Aro Bl 2
Oil &k o8
201 LBr2g | 20,000 17,850 2,150
10,000
10,000
01 At 2teltl 20,000 17,850 2,150
Ogtt+=EZH| 20,000
OMEFAIIP ot A S HIALY
20,000, 000& 20,000
= 10,000
Al 10,000
MetiE etdst=8¢ 46,754 6,754 40,000
2 5,000
Al 5,000
= 36,754
201 B2 HH| 46,754 6,754 40,000
5,000
5,000
36,754
01 AR 2teld| 6,754 6,754 0
O get=ZH| 4,510
Ootdst==& 4,510
. S48k (TH) 350,000 =174 350
. SA(E) 100, 000& = 12J4 1,200
. S2HE 30,000& * 1204 360
. B 50,0003 24 100
. abEE 150, 000& =24 300
. 28 2= ME 500& *3,000% 1,500
o RN WSWUM MZE 7,000& 1002 700
O] 2 244
OetMet=2d 224 24l
,000& *33H x84 1,848
Oetdet=2ed 227X OFAlHI
,000& *33H %24 198
OUHESRBY 22T A
,000& *33Z x34! 198
03 A2 HHI 40,000 0 40,000
osged=d 40,000, 000& 40,000
= 5,000
Al 5,000
= 30,000
20| CHEAIE &X 14,661 9,456 5,205
= 3,000
Al 3,000
= 8,661
101 el d| 5,760 2,250 3,510
04 JI12HHZ22NSES 5,760 2,250 3,510




A AL LT
A THH LW (S E ML /TSI - 21t )

CHl: OFE ARSI DIBHE A (9l @
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OS=0 HFAIL SX L 22 5,760
OREAX(EN)A
72,0002 42«8} £ *23] 4,608
ORE =2 23X 72,000 ¥4 x43] 1,152
206 TH 2 3,401 1,920 1,481
= 250
Al 250
2 2,901
01 2| 3,401 1,920 1,481
OS50 QMAILS HXBE HE 7 2,901
oRE 4,00024 *300H 1,200
OZ I (16mm, 5mm) 89,0008 x5 445
ORE SSHI(3LSR) 1,968.062 *600 £ 1,181
Ol=F ES IR (=EF=2-3 1,5002 x50l 75
CE=ES)] 25,0002 *204 500
= 250
Al 250
401 Al&HI L2 Y| 5,500 5,286 214
= 2,750
Al 2,750
01 Al&H| 5,500 5,286 214
OS=0 HHAIL &X 5,500
OSI8 EXIT 700,0002 %54 3,500
= 1,750
Al 1,750
O2H0I H XICH 500,0002 %44 2,000
= 1,000
Al 1,000
ol L T 22 52 LS (ZDEMLHE /TR - 1,388,593 1,617,996 A229,403
BIEtSl)
= 539,000
Al 185,000
2 664,593
WeAE HSHH 7= 1,388,593 1,617,996 £229,403
= 539,000
Al 185,000
2 664,593
L0l & =AY 386,424 343,709 42,715
201 Ler2 Y| 101,910 106,474 A4,564
01 Ak 2l 95,910 100,870 4,960
oYt 8,600
OEZES 2 Hu2a TN 7
20,0008 * 10 *55 1,000
OTHTHOIE SE T 014
5,000 x2002 25 2,000
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SN ALY D
HHM: THoll & MY =27 52 LSHSSEMUHH/THHE - 2122])
el THLHANE LIS A 25 (et & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
O Mu=EI}; o4 12,000& 200 2,400
OMHAS XS QFHLHEXIE A
400,000 *8IH 2 3,200
o1ul=y| 2,170
Oetd 3t 50,000& *7H 350
O&st 20,000& x7H 140
o9 40,0003 *7& 280
B 100,000 «7H 23] 1,400
oY=z 85,140
O=4+21(0.3m) 407,000& *6CH =10 24,420
O=4t21(0.6m) 572,000& +6CH* 10 34,320
OEIZEH(15E) 440,000& +6CH 10 26,400
02 2244 6,000 5,604 396
(OFNR=F3:IE=N}=] 6,000
OMAsSEI 2 105 100, 000& 103 1,000
OMtet& H X2 2t 200, 000& 154 3,000
Ogxg BE 2el 2,000,000& 2,000
202 (44| 1,000 0 1,000
01 S LHAHbI 1,000 0 1,000
o220l 1,000,000& 1,000
203 P =&l 10,000 11,000 A 1,000
03 A=A H 2= H| 10,000 11,000 A 1,000
OXHOH ALt CGIIZCHE =& 10,000,000& 10,000
401 AIEHIZL 2O Y| 273,514 226,235 47,279
01 Al€Hl 271,426 224,687 46,739
OAGHEEHl AAIEAHHl 290,000,000 *3.94% 11,426
OAGHE Y| 260,000
O0le ENDl SEH AoHE I (45 L=270n)
0,000, 000& 60,000
o2 it ols A5tAEHI (4= L=350m)
90,000,000& 90,000
OFg &g Ot& AotEEH 90,000
. EXIS&(2Z Xl 440m") 40,000,000& 40,000
. SAHHI(S 2 1=220m) 50,000, 000& 50,000
Otts B2 N&= Aot &
20,000,000& 20,000
03 A& 20 2,088 1,548 540
OA6tE EHI 290,000,000& *0.72% 2,088
WAHA X R(SERT) FHHIA (H=H) 904,664 1,180,000 A275,336
= 539,000
Al 180,000
= 185,664




SN
X XH .
S Tt

oLk

21 2t ) 2t
ol 2 W =72 52 2sHSTENLHH /X
Woas HSHH 25

SN EB -GS - MBAY - BES 0 & 24 e HRE2
401 Al HI 2 S OH | 904,664 1,180,000 £275,336
=2 539,000
Al 180,000
2 185,664
01 Al&H| 899,000 1,180,000 281,000
OB T(SHNT) HHIBA (D M
Jb& 5J§4, SO L=B00M)  899,000,000% 899,000
=2 539,000
Al 180,000
2 180,000
03 Al& 24| 5,664 0 5,664
OB R (SHXT) HHIB A
899,000, 000! *0.63% 5,664
ZL=HENS 10,000 10,000 0
Al 5,000
= 5,000
307 ©12+0| & 10,000 10,000 0
Al 5,000
2 5,000
06 282 10,000 10,000 0
OZ 4ol 2B A 10,000,000 10,000
Al 5,000
2 5,000
ZL0 e ZAQ 2Y 66. 129 63,380 2,749
101 01 24| 66. 129 63,380 2,749
04 JI2H2ERS 24 66. 129 63,380 2,749
OZ48f HZ=E ZAIQ 66. 129
OJlzg 44,4108 * 122 642 34,107
Ofg+g 44,4109 %129 %28 14,922
Onst| 5,0002! *122x642 3,840
SEEL] 5, 0009 *122 642 3,840
OJ=4g 2,880
ESY 40,0008 * 122 x38 1,440
. E S 20,0008 *242 <32 1,440
O = EIH| 400,0002! #1224 »13] 4,800
Oul=| 1,740
. Bos 80,0008 * 12213l 960
. 29 15,0008 * 122§ 13| 180
. orE 3 50,0002 122413l 600
250 2ARY 2Y 21,376 20,907 469
101 0124t 20,484 20,907 ~423
VPIENTEESETRS 20,484 20,907 ~423
0250 ZARH 20,484
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22Tyt
Holl & Tt 27 58 LSS EAHLHE /UL
Motats HEMA 25 A
S BB (EH) - NEAY - BAS b 52
ol &t o
oJlas 44,4103 x4 x65 11,547
Osgd=Y 44,4103 x4 27 4,797
OulsH| 5,000& x4H x65 1,300
O= &l 5,000 x4H 65 1,300
ON&Ex=g 960
. BHS X 40,0003 x4H «3& 480
. &, HI= 20,000& x8H x3& 480
O1ul=tl 580
. A= 80,0003 x4H x13] 320
. 29 15,0002 *4H 13| 60
. OtX 3Gt 50,0002 x4 x13] 200
206 TH 2 Hl 802 0 802
01 M=l 892 0 892
©O=2=0 7L &Hl 7 892
O = 2 I (pmm*25m) 25,000& =44 100
O7g&EE 198, 0003 =44 792
AZH (AL L) (OIEHIIEF) 648,646 477,795 170,851
Al 347,775
= 300,871
S (AL L) 507,906 337,555 170,351
Al 347,775
[ 160, 131
S 2ZHl 507,906 337,555 170,351
Al 347,775
= 160, 131
101 21241l 507,906 337,555 170,351
Al 347,775
= 160, 131
012 140,048 0 140,048
OAZ2H2AI2RE 8,9433 x45A| 2+x29H x 12 140,048
02 J|EtX 2 20,083 0 20,083
OANZAZ2Y(HE)
7,438 x45A| 2t x5F 12 20,083
03 RIHL2Z2HES 347,775 337,555 10,220
OM+d BE57Y 2ZAH 347,775
oJlas 1,050,000& 11 +x12& 138,600
138,600
OF==W F= 50,0003 *11Z«12& 6,600
6,600
(OFJOCE=, 945,000& 119 %43] 41,580
41,580
O=¢ 57,975
. IEY 7,920




SN ALLTHIL
HE: S ARG (ALY D) OIEHIIE)
el Il AH| (AL &) (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
—-bH < Xt 40,0003 x11E«12& 5,280
Al 5,280
-ZEHl & 20,0003 *11E«12& 2,640
Al 2,640
. AX=sE 34,560 *11H 10 3,802
Al 3,802
. AEIZ2SY
4,480 «11B 122 x20A 2+*1.5 17,741
Al 17,741
. RYEIESY 34,5603 x11H x50 *1.5 28,512
Al 28,512
O=cl= 4| 100,820
. usH| 5,000& x11H 25«12 16,500
Al 16,500
. =&l 5,000 «11H+25 + 123 16,500
Al 16,500
. HEFIH 400,0003 x 11 x23] 8,800
Al 8,800
o JHAHIE ZHI 1,050,000& »11H «30%*43] 13,860
Al 13,860
. AESHIE XY 390, 000& »2Z x4 3| 3,120
Al 3,120
. XFESEANE 1,400,000& *11H 15,400
Al 15,400
. BEE(30, 42, L&), 0, A)
26,640,000& 26,640
Al 26,640
Q1= 2,200
. YEi=Y 29 xejs, 20
200,000 =11 2,200
Al 2,200
Jl2dyl (AL 140,740 140,240 500
Jl=2&H| 140,740 140,240 500
201 Bt2 A | 46,840 46,340 500
01 At 2teltl 46,840 46,340 500
oget=8gH| 16,600
OZHM a2 16,600,000& 16,600
O=&l 30,240,000& 30,240
202 (44l 86,400 86,400 0
01 2UHOTH| 86,400 86,400 0
O©2tLH o 8 86,400,000 86,400
203 ¢ F =&l 7,500 7,500 0
01 J|22d P RF=8H 3,300 3,300 0
o=z 3,300, 000& 3,300
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SN

oLk

-]
HH: AL (AL ) (IIEH/DIIE)
=3 )

SN I SRI(S) - NRAY - B sk S 2
0f 4 o8

04 REXM2E TR 4,200 4,200 0
ORMNM2IYR=LH 350,000& «12& 4,200

XH?—%%(IHH%HN%)(%%Q ,351,570 1,330,893 20,677

UWEHHXS(H220I3) ,351,570 1,330,893 20,677

Jz &3 (Maed3) ,351,570 1,330,893 20,677

RIIsdE ,351,570 1,330,893 20,677

01 JISEES ,351,570 1,330,893 20,677
o2t d13 1,351,570,000& ,351,570
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